P R O D U C T S

AND PRICES



WWW.SOOIWA.COM

Change your water, change your life!



PRODUCTS

Enagic has a wide series of the machines that they produce. Main difference between the machines is the number of plates they have! More plates the machine has, the more Molecular Hydrogen it produces. This ofcourse sets the price higher. Enagic water machines are often referred to as **the gold standard** in the industry.

There are several reasons for that. Kangen water ioniser machines are assembled from the start to finish **by one technician** ensuring the highest quality control available. All employees Master high-level technological knowledge and proficiency throughout the entire process in putting development production Supply and service. This is how they ensure the highest product quality.

Enagic uses medical-grade platinum and titanium. To be more precise, Enagics machines use four times the amount of titanium and platinum than their competitors, making them last 20 + years. That also means that the Enagics electrolysis process will be more efficient, there will be less mineral buildup and long-term liability will be maximised. The machines are approved as a medical device by the Japanese Ministry of Labour and Welfare.

It is also important to mention that Enagic produces the highest quality supplements made from curcuma called UKON and shower filtration called Anespa DX.





K 8

Kangen 8 is the newest Enagics model that quickly became the bestseller. It is Enagic's most powerful antioxidant machine - featuring 8 platinum-dipped titanium plates for improved water ionization and increased antioxidant production potential. If you're looking for a powerful and versatile machine with plenty of user-friendly and energysaving automated features, the K8 is for you. K8 speaks 8 languages and has automatic cleaning.



SPECIFICATIONS

PLATES	8
PH RANGE	2.5-11.5
LANGUAGES	8
WARRANTY	5 y
ORP	-850
SIZE	279 x 345 x 147
PRICE	3,660€

If you wish to know more details about the machine <u>CLICK HERE</u>.

*This prices don't include VAT and shipping fees because they vary from country to country.

PAYMENT OPTIONS

Price: 3660,00 € (without VAT) Price with VAT 20%: 4392 €

Payment plan	Adminis. fees	Deposit		VAT 20% (France)	First payment	Delivery charges		Total price	Monthly payments
3 payments	30 €	+ 780 €	+	732 € =	1542 €	+26€	=	1568 €	2880 €/3 times 960 €
6 payments	60 €	+ 780 €	+	732 € =	1572 €	+26€	=	1598 €	2880 €/ 6 times 480 €
10 payments	100 €	+ 780 €	+	732 € =	1612 €	+26€	=	1638 €	2880 €/10 times 288 €
16 payments	160 €	+ 780 €	+	732 € =	1672 €	+ 26 €	=	1698 €	2880 € / 16 times 180 €
24 payments	240 €	+ 780 €	+	732 € =	1752 €	+26€	=	1778 €	2880 € / 24 times 120 €



SD501P

SD 501 Platinum is fully-equipped with a built-in electrolysis chamber, and featuring a large LCD panel and clear voice prompts, the SD501 PLATINUM is the leader of the pack. 7-Platinum-plated Titanium plates comprise the electrolysis chamber. This machine speaks 5 languages and has automatic cleaning. Its design is perfect for modern kitchens and it is almost as strong as K8!



SPECIFICATIONS

PLATES	7
PH RANGE	2.5-11.5
LANGUAGES	5
WARRANTY	5 y
ORP	-800
SIZE	264 x 338 x 171
PRICE	3,000€

If you wish to know more details about the machine <u>CLICK HERE</u>.

*This prices don't include VAT and shipping fees because they vary from country to country.

PAYMENT OPTIONS

Price: 3000,00 € (without VAT) Price with VAT 20%: 3600 €

Payment plan	Adminis. fees	Deposit	VAT 20% (France)	First payment	Delivery charges	Total price	Monthly payments
3 payments	30 €	+600€ +	600€ =	1230 €	+26€	= 1256 €	2400 €/3 times 800 €
6 payments	60 €	+600€ +	600€ =	1260 €	+26€	= 1286€	2400 €/ 6 times 400 €
10 payments	100 €	+600€ +	600€ =	1300 €	+ 26 €	= 1326€	2400 €/10 times 240 €
16 payments	160 €	+600€ +	600€ =	1360 €	+26€	= 1386€	2400 €/ 16 times 150 €



SD501

LeveLuk SD501 Enagic's Flagship Model. The industry-leading continuous ionized electrolysis water generator system, the SD501 is the finest machine in its class. With just a touch of a button, you can have access to any of the 5 waters you choose. It speaks English and has automatic cleaning. As the two previous models, it tell you when it's the time to change the filter.



SPECIFICATIONS

PLATES	7
PH RANGE	2.5-11.5
LANGUAGES	1
WARRANTY	5 у
ORP	-800
SIZE	264 x 338 x 171
PRICE	2,780€

If you wish to know more details about the machine <u>CLICK HERE</u>.

*This prices don't include VAT and shipping fees because they vary from country to country.

PAYMENT OPTIONS

Price: 2780,00 € (without VAT) Price with VAT 20%: 3336 €

Payment plan	Adminis. fees	Deposit		VAT 20% (France)	First payment	Delivery charges		Total price	Monthly payments
3 payments	30€	+ 600 €	+	556€ =	966 €	+26€	=	992 €	2400 €/3 times 800 €
6 payments	60 €	+600€	+	556 € =	996 €	+26€	=	1022 €	2400 €/ 6 times 400 €
10 payments	100 €	+600€	+	556€ =	1036 €	+ 26 €	=	1062 €	2400 €/10 times 240 €
16 payments	160 €	+600€	+	556 € ₌	1096 €	+26€	=	1122 €	2400 €/ 16 times 150 €



JRIV

The JrIV has four solid electrode plates which reduces the energy consumption. Due to the solid platinum-coated titanium plates, this unit can still produce the strong acid and strong Kangen waters. JRIV is an awesome budget friendly option! Due to the lower power consumption and fewer plates, this machine is only recommended for singles or couples. Families should consider one of the more robust models above due to the amount of output required.



SPECIFICATIONS

PLATES	4
PH RANGE	2.5-11.5
LANGUAGES	1
WARRANTY	3 у
ORP	-450
SIZE	264 x 338 x 171
PRICE	2,700€

If you wish to know more details about the machine <u>CLICK HERE.</u>

*This prices don't include VAT and shipping fees because they vary from country to country.

PAYMENT OPTIONS

Payment Adminis. First Total Monthly Delivery VAT 20% Deposit fees (France) charges plan payment price payments 2160 €/3 times 3 payments 30€ + 540€ = 1110 € +26€ = 1136 € + 540 € 800€ 2160 €/ 6 times 6 payments 1140 € +26€ = 1166 € = 60€ + 540 € 540€ + 400€ 2160 €/10 times +26€ = 1206€ 1180€ 10 payments 100€ + 540 € 540€ + = 240 € 2160 €/16 times + 540€ 1240 € 1266 € 16 payments 160 € + 540 € = +26€ = 150 €

Price: 2700,00 € (without VAT) Price with VAT 20%: 3240 €



ANESPA DX

ANESPA DX Home Spa System transforms your ordinary bathroom into a natural hot spring resort. ANESPA DX produces a continuous stream of healthy ionized mineral water. With a new, larger ceramic cartridge that removes almost 100% of chlorine and other harmful substances in your tap water, and adds safe, moisturizing minerals that are healthy for your skin and hair. Skin is our biggest organ and the amount of chlorine we intake with one shower is concerning!



SPECIFICATIONS

PH RANGE	same as tap water
WARRANTY	3 у
SIZE	130 x 346
PRODUCTION RATE	2.6 l/min
PRICE	2,700€

If you wish to know more details about the machine <u>CLICK HERE.</u>

*This prices don't include VAT and shipping fees because they vary from country to country.

PAYMENT OPTIONS

Price: 2200,00 € (without VAT) Price with VAT 20%: 2640.00 €

Payment plan	Adminis. fees	Deposit	VAT 20% (France)	First payment	Delivery charges	Total price	Monthly payments
3 payments	30€	+700€ +	440 € =	1170 €	+26€	= 1196€	1500 €/3 times 500 €
6 payments	60 €	+700€ +	440 € =	1200 €	+26€	= 1226€	1500 €/ 6 times 250 €
10 payments	100 €	+700€ +	440 € =	1240 €	+ 26 €	= 1266€	1500 €/ 10 times 150 €



υκον Σ

Ukon™ (wild turmeric) has been recognized for centuries as a natural healer. It has been known since the era of the Ryukyu Dynasty as a strong antioxidant, and India's ancient medicine (Ayurveda) has used turmeric as an analgesic, antibacterial, anti-inflammatory, anti-allergic, and antioxidant for over 6,000 years. The Spring Ukon (harvested exclusively for Enagic) is grown on dedicated farms in Yanbaru and is 100% free of harmful chemicals used in lower-quality, conventional turmeric farming.



If you wish to know more details about the machine CLICK HERE.

Depending on the country, Enagic also has available Ukon Tea and Ukon Soap!

PAYMENT OPTIONS

Price: 1600,00 € (without VAT) Price with VAT 20%: 1680.00 €

Payment plan	Adminis. fees	Deposit	VAT 5% (France)	First payment	Delivery charges	Total price	Monthly payments
3 payments	30€	+ 400 € +	80€ =	510 €	+ 34 €	= 544€	1200 €/3 times 400 €
6 payments	60 €	+ 400 € +	80 € =	540 €	+34€	= 574€	1200 €/ 6 times 200 €
10 payments	100 €	+ 400 € +	80€ =	580 €	+34€	= 614€	1200 €/ 10 times 120 €

*I've put this payment option as an example. These are the prices for France where VAT is 5% for supplements. Each country has different VAT. We will research that if you decide to buy the pills! This is a payment offer from Enagic but feel free to research other options like credit cards. Delivery fees vary from country to country!

EXTRA POINTS FOR DISTRIBUTORS

If you decide to become a distributor and want to buy Ukon, please note that there is a special option for distributors that gives them extra points. If you haven't yet, I strongly recommend you to go and watch the compensation plan video and then after the video above that explains health and business benefits of **UKON!**





ONLY FOR USA

Yes, I know it's not fair for the rest of the world, but these two awesome machines are only available in the USA (for now!). SD501 Super and SD501 U are two game changers. I will not write the payment option for those machines above because every country has its own tax rules. But it's important to mention that there is a payment option available for both! Both machines have an option of max 24 instalments.

SD501 SUPER

PLATES	7 + 5
PH RANGE	2.5-11.5
LANGUAGES	1
WARRANTY	3 у
ORP	-800
SIZE	352 x 384 x 250
PRICE	4,980 \$



If you wish to know more details about the machine <u>CLICK HERE.</u>

*This prices don't include VAT and shipping fees because they vary from country to country.

The Leveluk Super501 is Enagic's top of the line model for heavy home use. There is no other water ionizer on the market that can compare! This highly productive machine has 7 and 5 electrode plates, a twin hose system, industry leading cleaning system, a built-in tank for the electrolysis enhancer, and a water pressure regulating function making this machine a must for the large family or a business!

SD501 U

PLATES	7
PH RANGE	2.5-11.5
LANGUAGES	1
WARRANTY	5 у
ORP	-800
SIZE	264 x 338 x 171 (under sink)
PRICE	4980 \$



If you wish to know more details about the machine <u>CLICK HERE.</u>

*This prices don't include VAT and shipping fees because they vary from country to country.

If you could use a little more free counter space, this is the perfect unit for your kitchen! With the quality and power of the SD501, but the convenience of nestling discreetly under your sink. This Enagic machine is both practical and highly accommodating. You will still enjoy a fully featured, compact LCD control panel that is wall-mounted.



TOKUREI PROGRAM



DON'T HAVE THE MONEY?

This program was created to welcome everyone. This is for persons that are unable to purchase the machine via full payment or payment plan but still want to work for Enagic. This person has a function as a "partial" distributor. Meaning that they are able to go out and sell machines, but they will only receive partial commission. To sign up as a Tokurei, a person must submit their application along with the application of someone that is purchasing the machine (or Anespa) either by full payment or Enagics financing. The Tokurei will sponsor the buyer, and therefore will start with one sale (as a 1A).

How to do that?

- Enagic requires Tokurei distributors to purchase a "Tokurei starter kit" for \$25 (+ \$7 shipping and tax, cca \$35) -> for Europe and Australia is not necessary
- When signing up as Tokurei, one needs to select which machine they are working towards when filling out the application. (you can not downgrade the machine, but you can upgrade, meaning if you choose to work towards K8, you can downgrade to the cheaper one, but if you decide to work for JR IV, you can upgrade to ones in the higher price range!)
- A Tokurei will not receive their machine until enough commission has been accumulated to fully cover the cost of the machine or a cancelation of their Tokurei program is requested. (you can cancel the Tokurei once you have enough money for the down payment for the Enagics payment plan and receive the machine even sooner!)
- As a Tokurei, every time a sale is made within the 8 point structure, part of the commission will be placed toward the Tokurei's selected machine. (different price for each machine, that's why we suggest to start with the cheaper machine because less commission will go to the Tokurei program and you will earn more)

IMPORTANT!

- There is no expiration date on the Tokurei program!
- Enagic is a direct sales company that doesn't have any time limits, quotas or derankings
- Once you start this business you are your own boss. Meaning you do your time management and prioritization of this business! (no pressure and complete freedom in choosing how you want to work!)

If you choose to work with me, you will be added in a special group where we have calls every second Monday on different business topics, plus you will get individual 1:1 coaching and help to start! <u>CLICK HERE</u> to learn more about the benefits of working with me and Enagic!



"WHEN WE SEE A BIGGER MISSION THAN OURSELVES, WE EXPAND BEYOND OURSELVES. WHEN OUR SERVITUDE ENCOMPASSES ALL PEOPLE IN ALL LANDS, WE BECOME AMBASSADORS OF THIS TRUE HEALTH MISSION." - MR. OSHIRO, FOUNDER OF ENAGIC

<u>www.sooiwa.com</u>



WANT TO KNOW MORE?

For more information about the science behind the machines or how to purchase the machine, please contact me or visit my website! If you're not from France, feel free to use WhatsApp or Telegram.



WWW.SOOIWA.COM



🔀 INFOSOOIWA@GMAIL.COM

+33 76 73 234 57



BOOK A CALL FOR MORE INFO

Change your water, change your life!

